
07-CURRENT GMC/CHEVY EXTENDED САВ

1 ТOOLS REQUIREP• 5/16" DRILL • 1/2" НЕХ SOCKEr • 1/2" WRENCH * 5/16" NUТ DRIVER * 3/8" NUТ DRIVER 1 

ф 

�� 

MEASURE FROM FRONТ WHEEL WELL ТО BRACKEr 
LOAТIONS. МАRК lНIS DIMENSION ON 1НЕ PINCH WELD 

V 
REAR BRACKEI t,осдтюNs 

(DRIVERS SIOE SHOWN) 

� 

(i) 
BRACKEr ASSEМBLY 

ASSEMBLE WIТН 5/16" ВОLТS 

о 

� 

� 1 � r ' 

� 

® 

® 

REMOVE RUBBER PШGS FROM UNDERВODY АТ 
MEASURED LOCAТIONS AND INSТALL CUP NUТS 

SUDE CUP NUТ INТO ВОDУ _ 7)�J
кх,s д; � =�у�
BRACKEr ASSEMBLY MOUNТ ТО BODY; 
ASSEMBLE WIТН 5/16" ВОLТS AND NUТS 
lНROUGH FACТORY PINCH WELD HOLES 
AND INSТALLED CUP NUТS 

MOUNТ АТ LOCAТIONS SHOWN АТ ф 

FRAМE 

® 
BEND SТONE GUARD ВУ НAND AND 
KNEE ТО F1Т 1НЕ WНEEL WELL 
BEFORE INSТALUNG ТО RUNNING ВOARD 

----� ' 1, 
• 1 

11 

� 1 
11 

1 1 
11 

\ 1 
11 

--L----- 11 
_____ ,li 

® 
FASТEN FRONТ SТONE GUARD 
ТО ВOARDS WIТН 3/8" SELF 
TAPPING ВОLТ. BEND SТONE 
GUARD ВУ НAND AND KNEE 
ТО F1Т 1НЕ WHEEL WELL 

® 
HOLD BOARD IN PLACE, WIТН 1НЕ 
REAR RESТING ON 1НЕ ВАСК BRACKEr 

.шш: 
ВЕ SURE ТНАТ 1/4" ВОLТS ARE PLACED 
INТO 1НЕ ВRАСКЕТ SТЕР SUPPORТ 

@ 
SCREW lНROUGH SТONE GUARD 
INТO FENDERWELL UP USING #14 
ВУ 3/4 SELF DRIШNG SCREWS, • 
МАКЕ SURE YOU DRILL INТO MErAL 

3 PLACES АТ ЕАСН SТONE GUARD 

IHSJALLAТЮN 
PARJS цsr• 

IN320 
03/15/07 

@ 
WIТН BOARD LEVEL ТIGНТЕN 
ALL LOOSE BOLТS 

.Ш. PESGBIPJJPH 
2 RUNNING ВOARD 1 DRIVER & 1 PASSENGER 
2 SТONE GUARD 1 LEFТ & 1 RIGНТ 
8 3/8"х1 SELF TAPPING SCREW 
6 f14x3/4" ТЕК SCREW 

12 1/4х5/8" SQUARE HEAD SCREW 
12 1/4-20 НЕХ NUТ 

ф 

11:11 

® 
INSТALL END САР ТО ВOARD 
WIТН 3/8" SELF TAPPING BOLT 

SUDE 1НRЕЕ 1/4"х5/8" 
SQUARE HEAD SCREW 
INТO ЕАСН ТRАСК, 

SECURE ВOARD ТО BRACKEr 
W1ТН (2) 1/4" NUТS 

@ 
REPrAT FOR 01НЕR SIDE 

.Ш. PESGBIPJJPH 
2 END САР 1 LEFТ & 1 RIGНТ 
24 5/16"х 3/4" WASHER HEAD BOLT 
18 5/16-18 НЕХ WASHER HEAD NUТ 
6 FLAT BRACKEr, FL07 
6 HORIZONТAL BRACKEr, SUPPORТ, 3124F 
6 CUP NUТ 

Choose reliable running boards offered on our website.

https://www.carid.com/owens/
https://www.carid.com/running-boards.html



